MPAAL 2 4 x4 1 = 09 F 22 a, pot SHAE 39 Hj4E ok 4
of thste] ", pr & F 0.2 SH= o AHAL 42+ (@)x+ (D) =
oltt. @ ot @ Fure 0] - Tatolet

n
0
cCh "
=

>
> ®et: 9

od -

B ~

a, TR 2 +x+1=09 F Zo|lBE=
P +a+1=0,8+8+1=0
Lad=1,8=1

S, 23 At AN e +B=-1,08=1
D: n=3k+1kEeAZ5F) L 0,
an+ﬂn:(a3)k -a'+(/33)k ﬁ
=a+p=-1

©: n=3k+2kts AL 0,

&+ B = (aP)a? + (B°)B2

= (@ +p)” - 208

—1-2=-1

@, ©0MA nol 39 Hj47} ob
a"+p=-1,a"B" = (aBf)" =1

webd o7, pr2 2O Sh oAl
C4+x+1=0. =1 O=1




A x, y, 27bx+y+z2=06, xy+yz+z2x = 95 =5 o x 9

Higte M, 2232 molzt &}, o] W M —m 9] gh= 751 2

@ o @1 @ 2 @ 3 @4

B \

y+z=6-x,
yz2=9-x(y+2)=9-x(6 - x) = (x - 3)?
ALy, 28 F o= ot oA A S TEH

2-6-x)t+(x-3)2=0

D=(6-x)2-4(x-3)2>00°4 x(x-4)<0
L 0<x<4
M=4 m=0 .. M—-m=4




A7t A o2 A ax® + bx +c =09 SE p.g (-1 <p <
0<gq<1l)2fskak o|ZPYAA ex? —bx+a =09 SHE r,s(r < s) 2t
S, p,q,r,s° i TAE H2A UEhd 2272

@ p<g<r<s
@ r<s<p<gq
® p<r<s<gq

@r<p<q<s

® o] Ao RE & 4 gt

< Alete] BAO o5t

b C
Ptqg=—-——,pq=—
a a

b
g, 45— —a_ P14
¢ - Pq
()0
k(D) (D)
&, 014 i, s}:{_% _é}

1 1
“1<p<0°A —=>1,0<g<1lofA ——<-1
p q

1 1
L r=—<-1<p<g<l<-——=s5




¥ -x+1=09 % 9] a, o|B=
o Ageke] BANM e +8=1

o fle) =B, f(B) = alAl

5, @, BE f(x) =1-x9 F 2ot
web A, Tk f(x) +x- 12
(x—a)(x-p)E UF= 7H2ct.
238 f(x) 7} olapol 22
f)+x-1=alx-a)(x-B) =a(x* - x+1)
f(x)=ax*-(a+1)x+a+1,
f)=a-(a+1)+a+1=1
SLa=1

whatA], Tohe o] RHAL f(x) = 2 - 2x + 2




